A
ns INSTALLATION INSTRUCTIONS

\
FISHBON € ¥z

OFFROAD Cx¥@ PART No. FB22394
A 19-22 Chevy Silverado

Rear Bumper

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS QTy
7mm Socket Rear Bumper 1
8mm Socket M6 Bolt 4
10mm Socket M6 Nut 4
18mm Socket M12 Hex Bolt 4
19mm Socket M12 Nyloc Nut 4
2.5mm Allen Wrench Exhaust Cover (Right/Left) lea
3mm Allen Wrench Exhaust Bracker (Right/Left) lea

4mm Allen Wrench
Clip Remover Tool

Help of a friend

2137400
990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



A\\\\n
Fl S H B O N Eé(/q‘%fs INSTALLAYION INSTRUCTIONS
OFFROAD X Ows8 PART No. FB22394
7) i 19-22 Chevy Silverado
Rear Bumper

1) REMOVE EXISTING BUMPER
Begin removing your vehicle’s existing Rear bumper.
We show how to do this in another video over at
www.fishboneoffroad.tv

Remove the sensors and sensor wiring harness.
Remove the license plate bracket and lights.
Remove license plate lights.

Remove the exhaust caps.

2) ASSEMBLE
If applicable, remove the blind spot sensor brackets
and install the factory sensors as shown.

Install your factory license plate bracket, spare tire
guide, and trailer plug.

If you have them, install your 3x3 pod lights here
according to the manufacturers instructions.

2137400

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.fishboneoffroad.tv/

W

N |

FISHBON Eé%%%( INSTALLATION INSTRUCTIONS

OFFROAD /&w PART No. FB22394
ZA™ 19-22 Chevy Silverado

Rear Bumper

Install your Exhaust caps with the include bracket
and hardware. Repeat if you have dual exhaust caps.

3) INSTALL THE BUMPER
With the help of a friend and the remining included

hardware, secure the bumper to the frame rails.
* 3 ta T P ¢ o, ,'i B

2137400
990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



